Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER - 111 « EXAMINATION - WINTER 2015

Subject Code: 335005 Date: 09 -12 -2015

Subject Name: Structure - |

Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (@) Distinguish between (1) Scalar quantity and Vector quantity
(2) Centroid and Centre of Gravity

Ysl 1 A dstad vl (1) Al AQ wal ey jAQ

(R) 9J3ccd Zow ol He2l Sok
(b) Define force. State the characteristics of force with neat sketch.
ol ool catvaul AL oAl (AU clat@sdl qgdl A& Ul

Q.2 (@) Two tensile forces100 KN each acting at an angle 45° between them. Find
magnitude and direction of the resultant.

Ysl.? A 100 (B oeot oll Al A el doll Asollost WA ¥U° Wl watld B,
uRewHl e el Aol (o 0l

(b) State low of Parallelogram low of forces and low of Superposition.
ol AR ARl [AAM W 6leloll WLARAURLAL [(AauH B,

OR
(b) State low of polygon of forces and low of triangle of forces.

o ol ogslRlell AR U st (A5 (R Ul

Q.3  (a) State the system of forces by neat sketches.
us. 3 A oldlell (QQu utu(Qull vugld A& AxesAl.
(b) Explain different types of beams with sketches.
o (AlQuU ysRetl ol ugld A At

OR
Q.3 (a) Explain different types of Supports with sketches.

us.3 A (AlAu ysiRetl 25l vigld A umesdl,
(b) Explain different types of loads with sketches.
o (AAu ysietl eiR agld WA AHesal.

Q.4 () Define Moment, Composition of Force, Resolution of Force, and Resultant of
force.

uslLy A AR, olillef Aueet, olillef (Quzet wal URRIM oltell catvaul W,
(b) What is a “frame”? Give its classification.
ol FH WA Y? Agd (sl wU.
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State the conditions of equilibrium of Coplanar Non - Concurrent forces.
AHAl2A wWRPUH saletl AHAA ol 2RAL sBULAlL
Explain perfect frame and an imperfect frame with the help of sketches.

oot U Wl AR U wglAoll Heell Auendl.

Calculate the centre of gravity of T section having flange 15 x 2 cm, and web 2 x
20 cm. Also show the position of C.G. on figure.

3l WlsIRall MUSBET J3cctHtuFon UL Boll A% AU x 2 AL ua
At 2 x 20 AL oll B. gl 3 AUl dRccrtuBon olcllcl.

Following forces act at a point. Determine the Resultant in Magnitude &
Direction of above force System.

(1) 600 KN acting towards North (2) 500 KN acting S -W

(3) 400 KN acting towards East (4) 800 KN acting 30° south of East.

o(lAotl (el AsAgA AAB. Aol UIlRUHL wlnne] Yt et R au 20,
(1) 500 (5 o3f. tln GedR (B2l Rs (R) U00 (3 o3, ol e&llal ua
URAM (Bl R (3) ¥00 (3 o ool Ydl drs (¥) ¢00 (5 o3f. U

yd (Rauell 30° eeflol Rau drsocud B,

OR
Calculate centroid of ISA 60 x 40 x 10 mm keeping longer leg vertical.

AU A A 50 x ¥0x 10 Hl.Hl.of Ut Jog2ltll. cticll S| Gall AW

A Simply Supported Beam AB has span 8 m carries load of 2 KN 3 KN and
7 KN at a distance of 2 m, 4 m, and 6 m respectively from A. Calculate
Support reaction of A and B.

ULEL A 2sActl As ollHall sl w.o Hl 8. Asttur stoll el
2stell 2.0 . oll 200 (5. 3. oll (AAof AR A B. ¥Rl vitoyeil
2stell 1.0 Hl. olt 200 (5. o3). oll (Aof @R A B. it ol 12 yld
($21 s 20,
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